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Merit exemplar for 91400 2015 Total score 17 

Q 
Grade 

score 
Annotation 

1 M6 

Part (a) 

• All graph work correct and clearly drawn and labelled 

Part (b) 

Short run  

• Does not explain the increase in AR/MR to AR’/MR’ needed for 
Merit but does recognise the perfect competitor is a price taker 
and must accept the constantly changing prices. This was 
accepted as alternative evidence.   

• Uses marginal analysis to explain the new quantity supplied, 
however, is not clear that the quantity at the original output Q 
would be missing out on potential marginal profits. 

• Recognises the SR profit is supernormal but not that  
TR/AR > TC/AC 

Long run 

• Does not recognise the fall in AR’/MR’ to AR/MR 

• Does not use marginal analysis to explain the decline in output 
from Q1 to Q 

• Recognises the long run profit will be normal but not that  
TR/AR = TC/AC. 

• Recognises there is no more incentive for other firms to join the 
market. This is Excellence evidence and used as alternative 
evidence for Merit. 

This candidate gave 2/3 detailed explanations for the short run at Merit 
level. 

2 M6 

Part (a) 

• Correct graphing of profit maximising price and quantity 

Part (b)  

• Correct graphing of average cost pricing price and quantity 

• Correctly identifies the average cost pricing will cause a drop in 
price and increase in quantity but does not explain how this can 
cause an increase in consumer surplus as needed for 
Merit/Excellence evidence 

• Correctly explains the change in profit from supernormal to 
normal with the merit evidence that now AC=AR 

• Correctly explains the average cost pricing will be a more 
allocatively efficient outcome by showing the decreased DWL 
and increased net surplus. 

This candidate gave 2 responses at Merit level. 



  

3 M5 

Part (a) 

• Correctly moves the MC to the left and draws the resulting 
reduced quantity and increased price 

Part (b) 

• Correctly uses marginal analysis to explain the change in output 
and price after the increase in labour costs 

Part (c) 

• Correctly drew the AC curve above AR and turning on the MC 
curve 

• Correctly recognised the monopoly will have to leave the market 
in the long term, but does not identify shut down occurs at 
AC>AR or TC>TR, preventing this from moving to a Merit 
response. 

• Correctly identifies the monopoly has strong barriers to entry but 
does not identify any such barriers, preventing this from moving 
to a Merit response.  

• Recognises the monopoly operates at profit maximisation but 
does not use this to explain that is why price and quantity will 
remain unchanged.   

This candidate gave a merit response for one part, Part b, gaining a 
Merit level. 
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